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* OURBODY *
A. Tick (V) the correct answer .
1. Which one is not an organ of the respiratory
system ?
(a) Spleen (b) Nose (c) Windpipe
2. Air from the nose goes to the lungs through the
(a) food pipe (b) windpipe  (c) diaphragm
3.The air that we breathe out contains Minsky
(a) Steam (b) oxygen (c) carbon dioxide
4. The process of taking in air is called
(a) inhalation  (b) exhalation (c) incubation
5. Which gas is mainly responsible for global
warming ?
(a) Nitrogen  (b) Oxygen (c) carbon dioxide
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